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Figure 1

1. When disposable income is 0, how much is consumption, saving, autonomous consumption, and induced consumption?

2. When disposable income is 2500, how much is consumption, saving, autonomous consumption, and induced consumption?

Figure 2
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3. When disposable income is 0, how much is consumption, saving, autonomous consumption, and induced consumption?

4. When disposable income is 2000, how much is consumption saving, autonomous consumption and induced consumption?

5.        Use the information in Table 1 to calculate the APC and the APS.

	Table 1

	Disposable Income
	Consumption

	$50,000
	$40,000


6. Use the information in Table 2 to calculate the APC and the APS.

	Table 2

	Disposable Income
	Saving

	$20,000
	$4,000


7. If Disposable Income rises from $50,000 to $70,000, and consumption rises from $40,000 to $55,000, calculate the MPC and the MPS.

8. If Disposable Income rises from $75,000 to $100,000 and savings rises from $5,000 to $10,000, calculate the MPC and the MPS.

Figure 3
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In Figure 3


(1)
How much are consumption and saving when disposable income is 2000?


(2)
How much are consumption and saving when disposable income is 4000?


(3)
How much are consumption and saving when disposable income is 6000?

Figure 4
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In Figure 4


(1)
How much are consumption and saving when disposable income is 3000?


(2)
How much are consumption and saving when disposable income is 6000?


(3)
How much are consumption and saving when disposable income is 9000?
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Figure 5

11. Use the information from Figure 5 to fill in Table 3.

	Table 3

	Disposable
	
	(Total)
	Autonomous
	Induced

	Income
	Saving
	Consumption
	Consumption
	Consumption

	2000
	
	
	
	

	4000
	
	
	
	

	6000
	
	
	
	


Figure 6
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12. Use the information in Figure 6 to fill in Table 4.

	Table 4

	Disposable
	
	(Total)
	Autonomous
	Induced

	Income
	Saving
	Consumption
	Consumption
	Consumption

	3000
	
	
	
	

	6000
	
	
	
	

	9000
	
	
	
	


Use your answers from Table 3 to solve these problems:

13. Find the APC and APS when disposable income is 4000.

14. Find the MPC and MPS when disposable income rises from 2000 to 4000.

Use your answers from Table 4 to solve these problems:

15. Find the APC and APS when disposable income is 9000.

16. Find the MPC and MPS when disposable income rises from 6000 to 9000.
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